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M 1. ROBBORKME L f/IMEZ KD X,
1) y=223-322+1(-2=1=2) 2)y=—-23+32—-2(-2=2=3)

(E

B)y=-a>+622-92+50=2x=2) 4 y=223-32>-12x+1(-2=Zx=1)

(5) y =at —4x® + 422 (0 = 2 £ 3) 5)y=-322 -8 +10 (-1 =2 =1)

IR 2. ROMWIZEZ Ko
(1) HER 23 - 32 —a=023E% 2 3HDOELEME DD X512, E a DEDHIPA% E
» Ko

(2) HEER 23 — 622 + 92 —a = 0 237272 L HOEEMEE D X 512, € a DHEDEIF
ZED Ko

I 3. =0 DL &, RONFERXDED LD Z & ZiliE &
(1) 23 + 32 = 622 (2) 223 + 1 = 322



R

W 1. ROBERDRAME & &/IMEZ KD X
(1) y=223—922 + 122 (0 =z = 3) 2)y=-23-32>+4(-3=2=2)

B)y=—-23+622-5(-1=2=2) 4)y=a%—-622-150+9(-2=2=1)
(5)y=3a* —42® - 1222 (-1=2=1) (B)y=-32*+823-622 (0= 2 =2)

ME 2. ROMWITE R Ko
(1) HER 223 — 927 + 122 —a = 0 HRL 2 3HOELKEE DO X 512, EM a DIED
HiPH 2 E D Ko

(2) HRER 2% — 622 — a = 0 A7 1 D FREIRE 55 & 512, F4 a DHORP % ED
X

HE 3. 2200 Z, ROPEXDHEDILD Z & ZEHE Ko
(1) 23 +2 = 3z (2) 223 — 122 = 322 + 20



s

i 1.

1)z =2THRAEDS, z= -2 TR/ME 272t 3
r=—21THRKHEO v =3 THR/NME -20 2 3
r=0TCHRAMES c=1TR/ME1 %L 3
r=—-1THRAMES, =1TR/ME-12%% 3%
r=3THRAMEI, 2=02THRIMEOZ L 3

x

)
)
)
)
)
Yo =—-1TCHRAEL, x=1THIME-1%2L 5%

(1) 2<a<2 (2)a<0,4<a

%

1.
(1) z2=3THERKANHEI, =0THR/MEOZ L 2

(2) 2 =-3,0 TRAME4, z =2 THR/IMHE -16 & %
(3)z=2THRKfE1l,r =0 CHR/ME -5 %2k 3

(4) z=—-1THRAME17, 2 =1 THRIME -11 22 3
(5) x=0THRKMEO0, z=1THRIMH-13 %L 3
(6) 2=0TCHRKMEO0, x =2 THR/ME 8% 3

(I)d<a<b (2)a<-32,0<a



